ERS1FE1A31BHIT AfLBER—ERX

TESAT

TEFE

EILEEE

% Ok * En' ,ﬁ v ;H- 5
No IE%4 BRIR - TEER 4 (B A %) IEOHE TIHA 5] (B iR=) EZHE (EER) (K %) ALDAE
11U rBEREREIEISE H=CWAE  |ERETARFEIR AR A O EEMEIR N=1x H31.331|£ KT E 36,000000|E@ T% #X<tt REDES =/ BA 4
2l KPR JzVRBREIE Kith g KESHT £ KT HETHh A JIVAREI L=850m H31.322|t KT E 2,140,000(HR&t HKEIFEIE REXEMFER RE RYT (B4
3j(ﬂ§/\=}$— ot 3o =, Nt : i oﬁﬁ%ﬂ(%*ﬁ%& PP¢50 L=327.7m P . - A SHE . 4 IRE S I
PRATHKEN R TS KB\ ([ KBETXREF EABRA PG40 L=166m PP®20 L=9.5m H31.3.31| LKETE 13,300,000(# X =t DT KRR D 548
| RENEREN TSRS RUREEETH REMSLE lummsaremn OfA5—ME N=18 Ha1.0.22| B E 2250000\ k&4 AFERIHT R KRERGE ANE —F |8
SlEBUAME EE2885/ 51/ A TATHANRBERAEHRLE omaimisiE T ATy [ERSEESLE HIVP G150 L2200 |y 00| bk T 325000021 RHBHTX REDWE R 93 |48
I e MEUNER |3 IETANE| SR TR H %gf@ggﬁ TUNR=T=2aY N=2 | ool 3800000 BB IS REDRWR BB 52— |58
RAA LR EEDBAY YR Ty S HBTE ;;;4 NURE |aomr)) 1R b P OBRMRMAEYIRTuEHH N=8EmH H31.6.28|ETH 6,460,000kt 24t PRI T E REDGE B B |52
?E.%ﬁi?]ﬂii1l:§ﬁ%$¥ > o Lty st = sls ﬁﬁ%%iﬂ'llﬁiﬁ%#mﬁ&ﬁ-mii = = A SEEY o L RES _ =
8| 2 iy 5 0 4 [X 15 B B MR D - AL PR 5T TEERRS | BREMEEFHEZEBBAN 50 H31.3.29| B E5E 4,380,000k X4t EDERTX REMFHR BL —5 5%
29T (/v
O|BREMREMIHREML L BBE2THE (N5H)) B) o | PERRTE RTINS Ry BREMREMIHREE  N=1000% H31.3.20| 27 EE 38,200,000\ HRL# f-LoEE REIS ED 2T %
b
R 18 (—BHR ) )
10[fR 2R E I RIE L (EX—K) B EX— |MBIETILEX R FHEBR BREMREMIHFRBE  N=500%% H31.3.20| 27 S 13,600,000| % tth 2y #Etatt REmIES b Fx %
X
B2 A=0. 058kd RiGHIE L
1= T) 75 BISRETEHRER =93 )L 715 |MEIETHILFEEA B AT A =0. 34km F#hfHlE A=0. 56ha H31.9.30| (% EE 19,000,000| % X4t BBILAIER T BHRIE|XER K BE g
BAFEFaIHEE N=1. 0
T (e 2 2 s e FAEXIE(RL) £ . " i ; . .
12| R EE #HIFEXIERE) EHRT O|EFT—MHithA DEEREE 18 OBELHFE 5% H32.3.31| £ EE 95,300,000(# K=t BLBIERH BRAXE|XER K BiE 54
13|/3—=9T) 735 HEYMHEREECERET =93 )L 715 |MEIETHILEEA B ATt A HEFAE N=1. 0xX H31.3.22| (% EE 1,470,000| 4k X &4t EERAENRET RERFHER ED R B4
UARRT—FVA—FIoY BYMBRTHERATERER ?ij‘;;*j KASBT T T8 2 MR BMEXAZ N=1. 0zt H31.3.22| £S5 4050,000|# ka3t F—RbEE RIS N B %
ERRFILyb/AyaY 558 _
15| fERRLTL vk S BA 0|#3IBTHEIF BT 7 6 Fthogh | B Sufece Prob KOS Windows 1070 | H31.328|H@EEA 8,058,380\ RS HEZ REDUGHR 165 EL |4
FOARTFTRGE=AEHRAT—TLED)
16| M3 ETET = R — M B REA MEIEBIST = g2 mrana 2R P MEIERIST =2 —PARIESEEME | oy 50l mmEA 800,000 EREH Koy REDR A0 B=E |54

Aa—hk

A FZARYR,-OA—FISVIEM




